Quick Factor completely.

Check
6.3.7 90m? —19m ~ 90
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
CA. 90m2—-19m—-90= . (Factor completely.) 100
(OB. The polynomial is prime.
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Quick Factor the trinomial completely using the trial and error method.

Check ,
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6.3.35 Factor completely.

) 35X - 82x + 48

35x —82x+48 (7x 8) (5x 6)
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6.3.35 Factor completely.

) 33x%—-46x+16
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6.3.43 Factor the trinomial completely.
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6.3.85 Factor.

£ 25¢2+29c+9

Select the correct choice below aﬁd fill in any answer boxes within your choice.

A 25¢2+29¢+9 =}

¥B. The expression is prime.
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